B¢ Pythagorean Thearen & Iis Converse nme

Block
Pythagorean Theorem: In aright triangle, the sum of the squares of the lengths of ¢
‘the legs equals the square of the length of the hypotenuse. a
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o If AABCisaright A, then f';f “}/ b =
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Pythagorean Triple: a set of ;b } fﬂ ‘g{ ' LY 55’» g€ numbers a, b, and ¢, such
that @+ b? = %,
Example: 9,12,and 15 Are 3, 4, and 5 a Pythagorean triple? Name another one below.
152 = 122 + 92 9C = A+l Ueo §}§g(\ 6&,%2;53
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Converse of the Pythagorean Theorem: If the sum of the squares of the lengths of the shorfesf sides of a

triangle is equal to the square of the length of the longest side, then the triangle is a

i T triangle.

Remember: Test for a Triangle: \?
If 3 sides forma triangle, the & _ §,§ MY L~ of the 2 smaller sides is /__ the third side.

Classify a Triangle by using these Theorems é jg”’
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o Ifc?=a® + b% thenAABCisa =

o Ifc?<a® + b% thenAABCisa . %”{ triangle.
ff\‘ : N P

o Ifc?>a® + b% thenAABCisa iﬁﬂé‘j{/ triangle.

triangle.

Determine whether each set of numbers can be the measures of the sides of a triangle.

If YES, classify the triangle, as acute, right, or obtuse.
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3 lengths: Isita triangle? What type of triangle? Show work!

Is it a Pythagorean
Triple?
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8-2 Practice Worksheet: PYTHAGOREAN THEOREM: c? = a? + b?

Use AABC to determine if the equation is frue (T)or false (F). C

2, 2.2 1 2. .2 e i
1. b*+a*=c¢ z 4. c‘=a°-b %/ b a
2. o= | 5. c?=b%+a? "j”“
3. b cf=d z; 6. ad=cf-b2 A c B
Simplify the radical. Show work.
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Find the unknown side length. Simplify answers that are radicals. Do the sides forma

Pythagorean Triple? PYTHAGOREAN TRIPLE: All 3 sides are positive integers!
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Decide whe‘rher’ the following 3 num\éers can represent the side lengths of a right triangle.
If not, then classnfy the ’rrlangl as acute or obtuse. **Remember the right mang/e fesnl;?ér o
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21, 14,4 ,50

20. V13, 10,12
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In exercises 22 and 23, use the'diagram cmd the foHowmg mforma’ﬂon
The slope of the roof shown is i—z—.The height of the roof is 15 feet.

Shingle

22. tht is the Ieng‘rh from gu‘r‘rer to pea,k of L&mofg | N
3T 1521 €34 feet O 36~ 2
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23. If arow of shinglesis 5 inches hxgh how mcmy rows-of shingles ¢ are needed for one side of the

roof? { o
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